Suttner

The choice of perfection.

Spare Parts

Pipe cleaning nozzle ST-49/R

Item-No. 20 0049 .

B (Y,

20 0049 500 1/4"

FEMALE 050 (3x)

Pos. Item-No. Description Pos. Item-No. Description
1] 04 0000812 |Housing 1/4“female 3 04 0000 790 | Lock washer
2| 010000270 | Nozzle 050 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 505 1/4” FEMALE 060 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 812 |Housing 1/4* female 3 04 0000 790 | Lock washer
2 01 0000 290 [ Nozzle 060 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 510 1/4” FEMALE 080 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 812 |Housing 1/4“ female 3 04 0000 790 | Lock washer
2 01 0000 280 [ Nozzle 080 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 550 1/8” FEMALE 050 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 822 | Housing 1/8“ female 3 04 0000 790 | Lock washer
2 01 0000 270 [ Nozzle 050 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 555 1/8” FEMALE 060 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 822 | Housing 1/8“ female 3 04 0000 790 | Lock washer
2 01 0000 290 [ Nozzle 060 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 560 1/8” FEMALE 080 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 822 | Housing 1/8" female 3 04 0000 790 | Lock washer
2 01 0000 280 [ Nozzle 080 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 600 1/4” NPT FEMALE 050 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 810 | Housing 1/4“ NPT female 3 04 0000 790 | Lock washer
2 01 0000 270 [ Nozzle 050 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 610 1/4” NPT FEMALE 080 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 810 | Housing 1/4“ NPT female 3 04 0000 790 | Lock washer
2 01 0000 280 [ Nozzle 080 (3x) 4 04 0000 780 | Screw M5 x 6
20 0049 650 1/8” NPT FEMALE 080 (3x)
Pos. Item-No. Description Pos. Item-No. Description
1 04 0000 820 | Housing 1/8“ NPT female 3 04 0000 790 | Lock washer
2 01 0000 270 [ Nozzle 050 (3x) 4 04 0000 780 | Screw M5 x 6

ETZ-ST 0049 R-GB-02-01.doc
ID-Nr.:

Stand: 00




